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1.§|’Iﬁﬁ[EvaIuate]/ f(z)dz CARICREGAGE
1

1—2x , <0
1+2x , >0

o4

STal (where) f(z) = {

O s
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2. 57T Y

1
/ |x|dz
~1

O @i s

2
3./ |z — 3|dz T A AP | [ Find the value of |
1

O s

2
4. 5Td &Y [ Evaluate ] / |:132 + 2z — 3|dx
0

Oaﬁ@ﬁ’rmaﬁ



https://dl.doubtnut.com/l/_BgYbK9j3hkLY
https://dl.doubtnut.com/l/_iaKH6iOj84qR
https://dl.doubtnut.com/l/_fJePEbd9fV3U
https://dl.doubtnut.com/l/_0zSVphu0c8hF
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5. Sld @9 [ Evaluate] / f(z)dz, S8l (where)
1

fl@) =]z -1 + [+ |z —2[+ |z -3

O @i s

27
6. AT fA®TA [ Find the value of ] / |sinz|dz
0

O s

27
7.[Find the value of ] / |cos x| dHTH STTd & |
0

O @@ s



https://dl.doubtnut.com/l/_0zSVphu0c8hF
https://dl.doubtnut.com/l/_uTJJjOJFiGDG
https://dl.doubtnut.com/l/_GjLz6Rd9V9ow
https://dl.doubtnut.com/l/_khqRiutDSzYj

8. [Find the value of ] / |cosz — sinz|dx BT AMF
0

T B |

Oaﬁ@ﬁ’rmaﬁ

3/2
9. SITd B[ EvaIute]/ |z cos mz|dx
0

ommaﬁ

3/2
10. S71d %[ Evalute] |z sinx|dx
~1

ommaﬁ



https://dl.doubtnut.com/l/_khqRiutDSzYj
https://dl.doubtnut.com/l/_VFYoKAyDXOhp
https://dl.doubtnut.com/l/_yWn9kA9OjZq4
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1. 371d &9 EvaIute]/ co % dx
0 \/COST + y/sinx
O s
12. 579 [ Evalut / dz
SiTd X[ Evalute] =

Oaﬁ%ﬁrmaﬁ
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13. S71d &9 Evalute] /

COS _|_ e COoS x

O s



https://dl.doubtnut.com/l/_WZ5qBRDNeQrk
https://dl.doubtnut.com/l/_JNXdQ4Gfn0MC
https://dl.doubtnut.com/l/_X98d8L6ovPDv

14. FAGfEd &1 S1Td &Y [ Evalute the following ] :

(i)/oa ﬁffmd‘”

O s

15. fAgfeifad &1 sitd &9

2
(ii)/ T+/2 — xdx
0

Oaﬁ%ﬁrmaﬁ

16. FAAfcIRad BI 57T & [ Evalute the following ] :

1
(iii)/ (1l —z)"dx
0
|



https://dl.doubtnut.com/l/_Qx6RidKZWhZH
https://dl.doubtnut.com/l/_dQzTxLrRLmMm
https://dl.doubtnut.com/l/_2RjhBYVQOc1g
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17. 571d B[ Evalute] / log(1 + tanx)dz
0

O s
1
18. 571 &¥¢[ Evalute] / lo? i—; z) dx
O @ s

19. Siid P [ Evaluate

/ log(1 + tan@)df = %logZ
0

‘ P, - wmae



https://dl.doubtnut.com/l/_2RjhBYVQOc1g
https://dl.doubtnut.com/l/_SbEoi70yJATU
https://dl.doubtnut.com/l/_rl5GFTREpOcM
https://dl.doubtnut.com/l/_TpwN3Brvnt4T

20. 3¢ kwgpﬁ?r,a‘t/w sin2ke SITd &Y |
0

sin x

ommaﬁ
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21.§|‘I?[E|°;\’[Evaluate]/ cos® zdx
0

Ommﬁﬁ

/2 gsing — cosx
Zz.aﬁﬁ[Evaluate]/ dx
0

1+ sinx cosx
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https://dl.doubtnut.com/l/_bGmBaNlfirAC
https://dl.doubtnut.com/l/_bWUP66NDynJT
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TsinT

23.571d &% I[ Evaluate ] / dx
0

1+ cos2x

Oaﬁ%ﬁrmaﬁ

24.571d & [ Evaluate ] : / —dm

1+ sinx

ommaﬁ
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25. 57Td &7 [Evaluate ] / v dx
0

sinx + cos x

Oaﬁ@ﬁ’rmaﬁ



https://dl.doubtnut.com/l/_dLV4vxv036LZ
https://dl.doubtnut.com/l/_LYu8FJsoVl1Y
https://dl.doubtnut.com/l/_NBDgjg6IIJRW

26. g HIfa -

™/ /2 0 1
/ log(sinz)dz = / log(cos z)dx = —log(—)
0 0 2 2

O s

27.31d &Y [Evaluate ] / log(1 + cos z)dx
0

O s

28. Siid P [Evaluate ]

/2 (2logsinz — logsin 2z)dx
0

O @i s A



https://dl.doubtnut.com/l/_mqqVScdGl3H1
https://dl.doubtnut.com/l/_UhqDj1oixLSw
https://dl.doubtnut.com/l/_gFUOtohiIWsJ

w/2 s 2
ZQ.EIHﬁ[EvaIuate]/ Sin @ dx
0

sinx + cos x

O @ s

30, feat o5 /af(a:)g(a:)dx _ 2/af(a3)da:, I
0 0
derm g Ay goer gy & |

f(z) = fla —z) g(z) + gla —z) = 4.0

Qaﬁ%ﬁrmaﬁ

31. ﬁ@(’%/ zf(sinz)dz = —/ f(sinz)



https://dl.doubtnut.com/l/_gFUOtohiIWsJ
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w/2
32.@@?@%/ sin 2z logtan zdx = 0
0

O @i s

33.§ﬂﬁﬁ/ v —da
0 a?cos?x + b?sin‘x

O @i s

1
34, S7Td / 23 da
1

Oaﬁ%ﬁrmaﬁ



https://dl.doubtnut.com/l/_yV7XHnFi4SOQ
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35.%@/ z|z|dz BT HH [P |
—1

O @ s

36.§n?ra?\f/ 1/ab_xda:
sV at+z

O s
/4
LY ASIGE: z3 sin? zdz
—7/4

O @G s



https://dl.doubtnut.com/l/_f6Xc4714q8Ge
https://dl.doubtnut.com/l/_P3KTST8pgHet
https://dl.doubtnut.com/l/_u6BL8e3KDByX

38 ﬁ/ll 272 Y 4o — 0
. Slld _10g 21 T =

O @i s

71'/2 4 .
39.I=/ log( *381““”)dmasmm%
0 4+ 3cosx

Answer: C
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https://dl.doubtnut.com/l/_5tFwVEZK3peu
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w/2
40./ (z2° + zcosz + tan’z + 1)dz BIAF &
—7/2

A.0

B.2

D.1

Answer: C

°'q‘11?,?i’r3ﬁ?iﬁ
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41.141?1%[:/ 2 +Smx)da:

—r 14 cos2z

O s A
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42.@7%%@14136@1?/ (2x + 3)dx BT A SiTd
1
HIfSTv |

Oaﬁ%ﬁrmaﬁ
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https://dl.doubtnut.com/l/_tZUB3WtLfrce
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44./ (z° — z)dz &1 HH ST N |
1

O s
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45.W%¢ﬂm$wﬁ/ (z° — 2z + 2)dz @I
0

AT STTd & |

O @i s

3
46./ x> dx B HE STd DT |
1

ommaﬁ
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https://dl.doubtnut.com/l/_ymhItN6DntSG
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47.Wﬁ5?ﬂm$mff/ e®dx T °E Sd DIV |
0

ommaﬁ

1
48.W%¢ﬁm$mﬁ/ e®dx B 119 SITd HhIfau
-1

O s A

4
49.aﬁw%¢ﬂm$mﬁ/ (z + €*)dz &1 71
0
ST BV |

ommaﬁ



https://dl.doubtnut.com/l/_qSQVCG3W72zU
https://dl.doubtnut.com/l/_UyQAxNqj3zjL
https://dl.doubtnut.com/l/_cliGHYBPRbA0
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SO.W%'@ﬂﬂTaﬂWﬁ/ 2% dx &I HF SId hifsTw
0

O @ s



https://dl.doubtnut.com/l/_cliGHYBPRbA0
https://dl.doubtnut.com/l/_VXf9k1ec57Vg
https://dl.doubtnut.com/l/_2q4vkdOx5djw

2. fARfAfad &I S1d &9 |

5
(ii)/ |z — 4|dz
1

O @G s

3. fFAgfeifad &1 si1d &9 |

2
(iii)/ |z — 3|dx
0

O s A

4. FAgfafEd o1 S1d & |

2
(iv)/ 122 — 1|dz
~1
| =



https://dl.doubtnut.com/l/_1oMMxc6TJNXS
https://dl.doubtnut.com/l/_s41ZAcKGYIE4
https://dl.doubtnut.com/l/_i7O1i5XU8TJI
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5. fAafafad & S1d &9 |

1
<v>/ (2| + |z — 1))da
~1

O @ sw

6. AafeiRad &I s &9 |

4
(vi)/ |z — 1|dz
0

O s



https://dl.doubtnut.com/l/_i7O1i5XU8TJI
https://dl.doubtnut.com/l/_i8lYU4ijqLBN
https://dl.doubtnut.com/l/_8d9JbqymKoGv

7. fAafaf@d &l gid & |

4
(i)/ |z + 2|dz
—4

Oaﬁ%ﬁrmaﬁ

8. fAafafad I 5id v |

3
/ |z + 1|dz
-3

Oaﬁ@ﬁ’rmaﬁ

9, fAufeifRad oY sTTd & |

13z — 1|dx
0



https://dl.doubtnut.com/l/_oqJGldbcm9EV
https://dl.doubtnut.com/l/_qRmswv9gQBqf
https://dl.doubtnut.com/l/_p2Idr6t7njK1
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10. fRgfaifad &! sitd &9 |

2
<iv)/ @ + 1|dz
—2

Oaﬁ%ﬁrmaﬁ

1. fRgfafad &1 sd &9 |

2
(v) / 122 + 3|dz
9

O @i s



https://dl.doubtnut.com/l/_p2Idr6t7njK1
https://dl.doubtnut.com/l/_WRJv4TRbxAwa
https://dl.doubtnut.com/l/_atR8zOZLPVS5

12. fFAgfeafad &1 sitd & |

8
(vi)/ |z — 5|dx
0

O @A sw

13. fFAgfeifad &1 sita & |

8
(vii)/ |z — 5|dx
2

Oaﬁ%ﬁrmaﬁ

14, fRgfafad &f sitd &9 |

5
(viii)/ i+ 2lda
5



https://dl.doubtnut.com/l/_69RMTfsZV1Kw
https://dl.doubtnut.com/l/_q9yq3bw8ygvu
https://dl.doubtnut.com/l/_0K5Nv5g5G7oU
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15. () A @ /f(w)da:, STel
0

fl@) =z -1 + [z - 2| + |z — 3|

Oaﬁ@@rmaﬁ

2
16.(ii)§|1?[@/ ’:c?’ —:c‘d:c
~1

ommaﬁ

0
17.(m)§na@/ (2| + |z + 2| + |& + 5|)da
5

A P, - wma


https://dl.doubtnut.com/l/_0K5Nv5g5G7oU
https://dl.doubtnut.com/l/_nwcRIPOUmkqf
https://dl.doubtnut.com/l/_daiSXpXw6usJ
https://dl.doubtnut.com/l/_cVwP4Pe8eKKf

18. fAgfafad
Pl ST B
|

/\77/4
_W/4|ta,na:|da:

O s

19. FRgfafed
P! SITd P
|

/‘Tl'
: |cos z|dx

O s



https://dl.doubtnut.com/l/_cVwP4Pe8eKKf
https://dl.doubtnut.com/l/_OpTKzMJv2zZX
https://dl.doubtnut.com/l/_6Z3T5WjWZ4SP

20. fAgfeifad i sitd &9 |

w/2
/ |cosz — sinz|dx
0

O @i s

4

o 20 +8 1 <2 <2

22, 5Td &9 T8 f(x) = - =
) {6:13 2<zx <4



https://dl.doubtnut.com/l/_9JMyX0n0wKnu
https://dl.doubtnut.com/l/_bfwKCkiSiIyx
https://dl.doubtnut.com/l/_82XqdLOS7EIe

23. GIG]

dr+3, 1<z<2
3z+5 2<z<4

flea  fa) = {

/2
24, 57d & (sin|z| + cos|x|)dx
—7m/2

O @i s

3.5

zs.gnaﬁ(i)/

0.2

15
[x]dz (ii) /0 [x]dz

O'qﬁﬁ,!i’rmaﬁ



https://dl.doubtnut.com/l/_82XqdLOS7EIe
https://dl.doubtnut.com/l/_G5IYBPHA7C3P
https://dl.doubtnut.com/l/_G29MQPn2gmmm
https://dl.doubtnut.com/l/_Dx9eRdRjfldA

26. FAgfeifad o1 Si1d & |

w/2
/ cos? zdzx
0

ommaﬁ

27. FAGfeif&d o1 Si1d &V |

w/2
COsS T
—dzx
0 CoOsSx + sinx

Oaﬁ@aﬂmaﬁ



https://dl.doubtnut.com/l/_Dx9eRdRjfldA
https://dl.doubtnut.com/l/_IthfeGgwjmX4
https://dl.doubtnut.com/l/_WZvQ5ADAvLO6

28. fAafeifRad &1 sT1d & |

w/2 dr
/0 14 tanz

O @ s

29. fAFfAfEd ! i1d & |

w/2
/ logtan x dx
0

O @i s

30. fAgfeifad &1 sitd &9 |

s
xtanx
dx
0 Secx cosecr

| &= @ o


https://dl.doubtnut.com/l/_TrNlrARsVMM4
https://dl.doubtnut.com/l/_coSfnI55gkch
https://dl.doubtnut.com/l/_PQICP1twZ77E

|°‘qﬁ1?=!i’r3?r\’aﬁ

31. Agfafad ! sitd & |

/”/2 Vtanx
0 1+ y/tanczx

dzx

ommﬁﬁ

32. g &9

2
m/ cos® x
- dx
0 sin® x + cos® x

ommﬁﬁ



https://dl.doubtnut.com/l/_PQICP1twZ77E
https://dl.doubtnut.com/l/_rQD25wotsAy0
https://dl.doubtnut.com/l/_5FpWaz99rpyM

33. g &9 b

w/2 . 4
sin”
/ 7 dx
0 sin“ x + cost x

O s

34. g o

m/2 ¥/cos p
T
0 Jcosx + /sinx

O @ s

35. g &9 fb

/2 sin
. dx
0 siInx + Ccos



https://dl.doubtnut.com/l/_icHqFI4k5v3L
https://dl.doubtnut.com/l/_cAV6qlq6soGu
https://dl.doubtnut.com/l/_KWx7q4jNbX8g

36. g &9 fb

™/2 \/sinx
0 vsinx + y/cosx

dx

Oaﬁ@ﬁ’rmaﬁ

37. g & &b

7'('/2 dw 71'/2 dw
(i)/ 1 (ii)/
0 + tanzx 0 1+ cotx

O'qﬁ%!i’rmaﬁ



https://dl.doubtnut.com/l/_KWx7q4jNbX8g
https://dl.doubtnut.com/l/_R9e2MomoCUDq
https://dl.doubtnut.com/l/_YGGnBcBcfAAW

38. g &9 fb

/2 sin®
2 dx
0 sin® £ + cosd x

O s

39, g & fb

2 )
m/ sin®/ 2
372 dx
0 sin®/ “ x + cos3/2 x

Oaﬁmm%ﬁ

40. g & fp

™/2 v/cot x p
T
0 veotx 4+ y/tanx



https://dl.doubtnut.com/l/_DsTkPCRtX9Ep
https://dl.doubtnut.com/l/_N24gI64CqnKx
https://dl.doubtnut.com/l/_AibLe66Sm9RC

41. g fb

71'/2 dw
/o 1+ tan® x

ommiﬁ

42. g o

/2 sin® z
, dx
0 1+ sinzcosz

Oaﬁ@ﬁ’rmaﬁ



https://dl.doubtnut.com/l/_AibLe66Sm9RC
https://dl.doubtnut.com/l/_JRX37mEAEZ30
https://dl.doubtnut.com/l/_0Qfy3XYt4l0F

43. g & b

dx
1 V3—z+4z

Oaﬁ%ﬁrmaﬁ

44 Rg ™ b

/” ztanx
dx
g Secx + tanx

Oaﬁ%!i’rmaﬁ

45, (i) RIg & &

/2“ f(z)
o f(z)+ f(2a — x)

dx

[



https://dl.doubtnut.com/l/_dj8mnQymXZfY
https://dl.doubtnut.com/l/_GVTywT3Bc63Q
https://dl.doubtnut.com/l/_UlQWtwL2J5V7

| @ A 3w &

46. (ii) g & B

/ f(a: da:—b_a
f(z (a+b—2x) 2

()émﬁﬁwﬁﬁ

47. (iiRg & fob |

o 2¢ — 1
tan™ . de =0
0 14+ — x2

(,mﬁﬁﬁﬂﬁﬁ



https://dl.doubtnut.com/l/_UlQWtwL2J5V7
https://dl.doubtnut.com/l/_5nMAQsm7T7fS
https://dl.doubtnut.com/l/_4kAZF89pDDbV

48.(iv) G f(a + b — ) = f(z) , g f®
b a b
/a x f(x)dz = ;b/a f(z)dx

Oaﬁ%ﬁrmaﬁ

49, (v) g & &
/2 3+ 5cosz
/0 log(3—|—5sinm)dm:0
O @ s
50 (i) g G
! ¢
flz) g (t—=z)dz = [ g(z)f(t —z)d=



https://dl.doubtnut.com/l/_UjV2lOlSDP4K
https://dl.doubtnut.com/l/_wR4SVSDZJfbQ
https://dl.doubtnut.com/l/_E3I0JKJYkz8a
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51. (i) 3¢ f 3R g 3R [ O,a] H Tad & ool
f(z) = fla — z) 3R g(z) + gla — z) = 2 P AGE
&xd &, dl fe@m s

[ 1@) & @do= [ fwyaa

O @i s

1
52. SiTc B3 / e da
1

Oaﬁ%!i’rmaﬁ



https://dl.doubtnut.com/l/_E3I0JKJYkz8a
https://dl.doubtnut.com/l/_GIS1wAGKzPQY
https://dl.doubtnut.com/l/_ah2ozzmTkAHS
https://dl.doubtnut.com/l/_yyKmIGI9Fbns

53. ST & / sin® x cos zdx

ommaﬁ

1
54, STTd 3 / ze T tan’z g,
1

ommaﬁ

55.@_&@%/@ a:f(:v4)dw =0

O s

56.@@@%/2 f(z*)dz = 2/2f(m4)da:
2 0


https://dl.doubtnut.com/l/_yyKmIGI9Fbns
https://dl.doubtnut.com/l/_iYv16wamglpT
https://dl.doubtnut.com/l/_3kyybBhABuui
https://dl.doubtnut.com/l/_iPDXb6csRpRd

O @ s

1
57.513@/ el®ldx
1

O s

1
58. STTd &Y / sin® z cos? zdz
~1

Oa"lﬁ?i’rmaﬁ

1
59.513@/ 7 cos* x dx
1

O s A



https://dl.doubtnut.com/l/_iPDXb6csRpRd
https://dl.doubtnut.com/l/_jJfIO4DD2Lv1
https://dl.doubtnut.com/l/_WiE12myObc4T
https://dl.doubtnut.com/l/_RrbaoChcXjDk
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60. STTd &Y sin’ zdx
—7/2
O rd s 2
w/2
61. STTd Y sin? zdzx
—7/2
O R sw
w/2
62. SITd B9 sin xdx
—7m/2

O @i s



https://dl.doubtnut.com/l/_RrbaoChcXjDk
https://dl.doubtnut.com/l/_p1aSttY0YDZb
https://dl.doubtnut.com/l/_YQH5upi9wSOT
https://dl.doubtnut.com/l/_UbypoUUlqPdW

63 ﬁ/ll ST,
. olld _1og 31 7 x

O @i s

w/2 2 _ g
64. 51T B log(ﬂ)dx

_x/2 2+ sinz
O s
w/4
65. SITd B3 sin? zdz
—7/4

Oaﬁ@!ﬂmaﬁ



https://dl.doubtnut.com/l/_GkF94bbu8GAT
https://dl.doubtnut.com/l/_HCEaBYe23jHw
https://dl.doubtnut.com/l/_h2ES4VutIStC

1. IPThd foe AT & w9 O fRAgfafad J9real & 91 sid
SIS |

2
(i) / rdx
0

O'q"lﬁii’rmaﬁ

2. IPThd f AT & wui fRAgfafedd Jqreel & A1 Sid

BT |
5
(ii)/ (z 4+ 1)dz
0

O s



https://dl.doubtnut.com/l/_UoyL1MK2n5iu
https://dl.doubtnut.com/l/_HLZhoHjqzRNC

3. I fob Tar & wur fAgfafaa Jaredl & @ sid
SIS |

2
(i) / (z + 4)da
0

ommaﬁ

4. IP1Thd fos dir & wud fRgfafad Iqreal o 414 s
ST |

2
(iv)/ (z + 3)dz
0

O df s



https://dl.doubtnut.com/l/_YyH5qSRsDGlU
https://dl.doubtnut.com/l/_IPa8MHTsLIPD

5. IPT%ha fob AT o wud Aufafad IaTeal & 919 s
SIS |

1
(v)/ (z + 3)dx
~1

O @i s

6. APThd fos a1 & Wi fAgfafRad Iareal & A9 sid
ST |

4
(vi)/ (2z — 1)dz
2

Oaﬁ%ﬁrmaﬁ



https://dl.doubtnut.com/l/_wLlNvLeLZEvd
https://dl.doubtnut.com/l/_gXjyyHow7Yax

7. 01 fo diar & o fAgfafEad a9redl & 91 sid
SIS |

2
(vii)/ (22 + 1)dx
0

Oaﬁﬁﬂi’rmaﬁ

8. APl fos AaT & Wi fAufeiRaa IdTdmal o A9 sid
ST |

3
(viii)/ (22 + 1)dz
1

O s



https://dl.doubtnut.com/l/_KUsFGJOSFcW4
https://dl.doubtnut.com/l/_60Ws1PnWSNoy

9. APThe fob Tar & wud fAgfafad Jareel & @1 siid
SIS |

b
(ix) / x dx

Qaﬁ%ﬁrmaﬁ

10. IPT% fob AT & wud fAgfaifad Iareel & 91 s
ST |

2
(i) / rldx
1

Oaﬁ%ﬁrmaﬁ



https://dl.doubtnut.com/l/_cpojCMDfut8p
https://dl.doubtnut.com/l/_YuyrBtcNr8L1

11. IT%hd fos AT & wud fAgfefad waTse & A9 s

HIf |
3
(ii) / z2dz
2

O @i s

12. I0T%e b a1 & g fAgfafad Iaremal & 94 siid
HIfF |

2
(iii)/ (2% + 1)dz
0

O s



https://dl.doubtnut.com/l/_WI08Zu9xw9xe
https://dl.doubtnut.com/l/_hZwzUJqxqfEZ

13. I fos i1 & wud fAgfafad gareal & @[ sid
SIS |

2
(iv) / (z° + 3)dx
0

Oaﬁﬁﬂi’rmaﬁ

14. IP1T%hd fos T & v fAgfefad Iaremdl & A1 sid
ST |

3
(v)/ (23:2 + 5)da:
1

O s



https://dl.doubtnut.com/l/_Zen0RX0Cgm1X
https://dl.doubtnut.com/l/_ohmYatwarQ1N

15. I fos i1 & wud fAgfafad gareel & @[ sid
SIS |

3
(vi) / (2 + z)da
1

O @G sw

16. A1T%he fop AT & wud fAgfafaa Iaremal & 91 siid
HIfF |

2
(vii)/ (a:2 + a:)dzc
0

O s



https://dl.doubtnut.com/l/_uG8vGnnaYnvM
https://dl.doubtnut.com/l/_xvufJjQJq0B7

17. 3015 fos a1 & wud fAgfafad waTewel & A9 sid
SIS |

2
(viii) / (2 — 1)dz
1

ommaﬁ

18. APTHd fop a1 & wud fAgfeifad WHTEBcl & A1 sid
ST |

1
(ix) / (3:1:2 + 2z + 1) dx
0

O s



https://dl.doubtnut.com/l/_TaEcaGV4ERXG
https://dl.doubtnut.com/l/_FLJFI2FsgEj4

19. I fos i1 & wud fAgfafed Iareal & @[ sid
SIS |

3
(x) / (22* + 3z + 5)dz
0

O @G sw

20. IPT%hd fos T & wud fAgfafad Jareal & 91 siid
HIfF |

2
( xi) / r3dx
0

O s



https://dl.doubtnut.com/l/_MeC6zy6ybOfW
https://dl.doubtnut.com/l/_LiUo1CujvWcW

21. IP1%d fos Jiar & wud FAgfafad Jareel & 91 siid
SIS |

2
(i) / e’dx
0

ommaﬁ

22. IPThd fop AT & wud fAgfafad Iardbel o A1 sid



https://dl.doubtnut.com/l/_K5UiHQJ6fGUR
https://dl.doubtnut.com/l/_0PJLDkIM557H

23. IPT%hd fos AT o wud fAgfafad Jareal & A9 s
SIS |

b
(iii) / e’dx

Qaﬁ%ﬁrmaﬁ

24. I0T%hd fos AT & wud fAgfafad Id9real & A9 s
SIS |

1
(iv) / e’ 3%dy
0

Oaﬁ%ﬁrmaﬁ



https://dl.doubtnut.com/l/_rkxKOsyuWTHj
https://dl.doubtnut.com/l/_95Kefq6tr4mC

25. IPT%hd fos AT o wud fAgfafad Jaremal & A9 si1d

HIfa |
4
(v) / 2% dx
1

O @i s

26. IPThd f AT & wud fAgfafad Iardhel o A1 sid
ST |

b
(vi) / e™dzx

O @i s

Objective Questions



https://dl.doubtnut.com/l/_oXZ0Y3iha7DF
https://dl.doubtnut.com/l/_a8IYvwwCQMcJ

7T
1. / cos?™ 1 x du,
0

integar is equal to

(2m + V)=
A
2
B.O
C.1

D. none of these

Answer: B

where m is a positive

O ==&



https://dl.doubtnut.com/l/_wef7YTt1m2WK

™/2 Veot

2. The value of

0 vtanx + y/cot

to

(Y I TN

D. none of these

Answer: A

dx is equal

Oaﬂ%ﬁrmaﬁ



https://dl.doubtnut.com/l/_oiGn7WUg38ve

3./a " fe)dz 2/0af(a:)da: i

A f(2a —z) = — f(z)
8. f(2a — ) = f(a)
C. f(x) is an odd function

D. f(x) is an even function

Answer: B

O S sw

4.3fCg(z) = /Omcos 4tdt T g(x + 7) RIS EP1


https://dl.doubtnut.com/l/_Lc5us6BEANx4
https://dl.doubtnut.com/l/_YsyXT8823wtr

5. Let f(x) = = — [x], for every real number x,

1
where [ x] is the integral part of x , then / f(x)dx
~1

IS


https://dl.doubtnut.com/l/_YsyXT8823wtr
https://dl.doubtnut.com/l/_DSV8D40tjzmh

Al

B.2

C.0

Answer: A

O s

T cos?x
6./ dr,a > 0
1+ a”

— T
A T

B.am


https://dl.doubtnut.com/l/_DSV8D40tjzmh
https://dl.doubtnut.com/l/_KkAxklntDLwP

Answer: C

O s

7. Let f, R — R and g:R — R be continous

functions . Then the value of the integral

w/2
/ [f(z) + f( — z)][g(z) — g( — z)]dz is

—7/2
A

B.1


https://dl.doubtnut.com/l/_KkAxklntDLwP
https://dl.doubtnut.com/l/_bVDJsa46kKjI

D.O

Answer: D

O s

2

T
8.Theva|ueof/ uda: is
1z

Al
B.—1

C.0

D.2


https://dl.doubtnut.com/l/_bVDJsa46kKjI
https://dl.doubtnut.com/l/_otbjZatyTkqk

Answer: A

O @i s

/1 2
o[ [T,
0 2

A3
B.O
C.—2

D. none of these

Answer: B

Oaﬁ%ﬁrmaﬁ



https://dl.doubtnut.com/l/_otbjZatyTkqk
https://dl.doubtnut.com/l/_rdDRhYmomreu

10. For any integar n, the integral

™
/ s, cos®(2n + 1)z dz has the value
0

A —1
B.O

C.1

Answer: B

Oaﬁ%ﬁrmaﬁ



https://dl.doubtnut.com/l/_rdDRhYmomreu
https://dl.doubtnut.com/l/_oWALX9M9DXFd

Answer: B

O s

dz

12. ﬁaﬁ@ﬁwwnﬂﬁaﬂﬁ/
1—|—tan T


https://dl.doubtnut.com/l/_40pJIGON7951
https://dl.doubtnut.com/l/_hBzTpRnWFaQo

A0

B.1

&3 |y

Answer: D

O @i s

1/2 1
13./ cos:clog( +m)d:c =
—~1/2 1 -2

A.log 3

B. cos 1. log 2


https://dl.doubtnut.com/l/_hBzTpRnWFaQo
https://dl.doubtnut.com/l/_XMNlYtQk0obD

C.0

D. 1

Answer: C

O s

/2
14. The value of the integral / |cos x — sinz|dx
0

IS

O s

2
15./ |z — 1|dx is equal to
0


https://dl.doubtnut.com/l/_XMNlYtQk0obD
https://dl.doubtnut.com/l/_CgFs4PlCPnlL
https://dl.doubtnut.com/l/_KElXMjML5LWB

Al

C.2

D.O

Answer: A

O @i s

16. The value of

/”/2 \/cos x p
T
0 \/cosT + y/sinx

A.O

the

integral


https://dl.doubtnut.com/l/_KElXMjML5LWB
https://dl.doubtnut.com/l/_vpEqF5jvf0D3

&3 |

D. none of these

Answer: C

Oaﬁﬁﬁrmaﬁ

/2 1—cos20 .
17. The value of do is
—7/2 2

N
2

B.1

C.2


https://dl.doubtnut.com/l/_vpEqF5jvf0D3
https://dl.doubtnut.com/l/_dZHAAwPL4V7y

D.O

Answer: C

O s

w/2
18./ sin® z cos® z(sinz + cos z)dx =
—7/2

A
B.
C.

2
5
2
15
4
15
D~
15


https://dl.doubtnut.com/l/_dZHAAwPL4V7y
https://dl.doubtnut.com/l/_kedJFsGPdfYK

Answer: C

O drd s

1
19./ ’1—w’d:c=
—1

A —2
B.O
C.2

D.4

Answer: c

O drd s



https://dl.doubtnut.com/l/_kedJFsGPdfYK
https://dl.doubtnut.com/l/_Z2gJuLR5KF8g

7T/2 1
20./ ——df =

A.log 3

B.1

=3 |3

Answer: D

O @ s

2
21./ z|2|dx P R 8

-1


https://dl.doubtnut.com/l/_Z2gJuLR5KF8g
https://dl.doubtnut.com/l/_rJWw3u2XQVJP
https://dl.doubtnut.com/l/_fjsqZ1SAoWZQ

D. none of these

Answer: B

O @A s

2
zz.ﬁamwmnﬂ/ (az® + bx + ¢) dx fsiR
—2

BT

A a, & AR


https://dl.doubtnut.com/l/_fjsqZ1SAoWZQ
https://dl.doubtnut.com/l/_xlatAvaGw7oU

BbHPAA W
C.c, PAM W

D. none of these

Answer: C

O s

23, quifes n & fer, HTBC

™
/ e’ % cos®(2n + 1) zda
0

A

B.O


https://dl.doubtnut.com/l/_xlatAvaGw7oU
https://dl.doubtnut.com/l/_4iQZUiG9QRcy

C.1

Answer: B

O s

7T/2 2_ .
24 STA Y | / log(ﬂ)dw

/2 2+ sinx
A0
B.1
C.2

D. none of these


https://dl.doubtnut.com/l/_4iQZUiG9QRcy
https://dl.doubtnut.com/l/_qLMRmHlOdS7V

Answer: A

O @ s

4 4
25, zrf%:/_lg(a;)dx .y /2 (3 — g(z))dz = T
,a’rsadnlnﬂorql‘sﬁTnfz g(z)dx

A —2

B.3

C.5

D. none of these

Answer: C



https://dl.doubtnut.com/l/_qLMRmHlOdS7V
https://dl.doubtnut.com/l/_mSmJJc8EoAMb

26.3f f (x) U fawd Be, dl
w/2
/ f(cosz)dx =

—7/2
A.O
/2
B. 2/ f(cos z)dx
0
C./ f(cos z)dx
0

/2
D. 2/ f(sinz)dx
0

Answer: B

O @i s



https://dl.doubtnut.com/l/_mSmJJc8EoAMb
https://dl.doubtnut.com/l/_FLxPRsj1NApX

™
27./ |cos z|dx =
0

A.O
B.1
C.2

D.3

Answer: C

ommaﬁ

/2
28./ sin|z|dz is equal to
—7/2


https://dl.doubtnut.com/l/_u2xCQkdK0WTY
https://dl.doubtnut.com/l/_3htG0KVMJbqU

A0

C.1

D.2

Answer: D

O @A sw

1
29./ z(1 — z)" dxis equal to
0

Al 1
‘n n+1
n



https://dl.doubtnut.com/l/_3htG0KVMJbqU
https://dl.doubtnut.com/l/_eaohPRLyfn1S

1

. (n+1)(n + 2)

D. none of these

Answer: C

O s



https://dl.doubtnut.com/l/_eaohPRLyfn1S
https://dl.doubtnut.com/l/_PQchxlwLJwPZ

Answer: D

O drdr s

2
31./ |1 — 2%|dz TR &P
—2

A.O
B.1

C.2

Answer: D

O drd s



https://dl.doubtnut.com/l/_PQchxlwLJwPZ
https://dl.doubtnut.com/l/_7diu9azqKV2F

™
.92 .
32./ e % cos®  x dz is equal to
0

A —1
B.1

C.0

Answer: C

O @i s

V2
33./ [m2] dr SRR &
0


https://dl.doubtnut.com/l/_7diu9azqKV2F
https://dl.doubtnut.com/l/_8LUJRPo47LqW
https://dl.doubtnut.com/l/_Uxgr9CqT2Dop

O it s &

6
34./ 2[z|dzx is equal to
3

A. 12
B.18
C.24

D. 30

Answer: C

O it s



https://dl.doubtnut.com/l/_Uxgr9CqT2Dop
https://dl.doubtnut.com/l/_ZQrCltPvZtJG

s5. (@) + £~ 2)lde=

A.O
B. Z/Oaf(a:)d:c
C. /aaf(m)dw

D. S8 I PIs Tl

Answer: C

Qaﬁ%ﬁr:ﬁ?aﬁ

3
36./ logtanzdx = .. ..
0


https://dl.doubtnut.com/l/_NrxfQwQkQ1B4
https://dl.doubtnut.com/l/_hiPkZ1rQUg62

) I N

C.0

Answer: C

O @i s

Sinx — COS &

w/2
37.The value of/ - der = ...
0 1+ sinzcosz



https://dl.doubtnut.com/l/_hiPkZ1rQUg62
https://dl.doubtnut.com/l/_dYqYMsdgaGuq

Answer: A

O s

38. If f(x) is a function such that f(20 — ) = f(x),

20
then / f(x

A.2 f()

0

B.O

10
C. f(z)dz
0


https://dl.doubtnut.com/l/_dYqYMsdgaGuq
https://dl.doubtnut.com/l/_CvNSjUl5WdL1

D. 20

Answer: A

O s

)
39. Ifcf(x) U faud et aerr/ f(z)dz = 10, =
0

/Zf(w)dw _

A.10
B.O
C. 20

D. —10


https://dl.doubtnut.com/l/_CvNSjUl5WdL1
https://dl.doubtnut.com/l/_d9ykHyDFtrzy

Answer: B

O @i s



https://dl.doubtnut.com/l/_d9ykHyDFtrzy

